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cos(TT— X) = —COSX
sin(m—Xx) =sinXx

CoS(TT+ X) = —CoSX
sin(m+x) =-sinx

sin(g—x)

cos(g—x) =gnx

= COSX

cos(g+x) =-sinx

. T
sm(z +X) = cosx

cos? x +sin®x =1
cos(x + 2km) =cosx ; KOZ

acosx +bsinx =rcos(x —¢)

_ _ cosd)zE
sin(x +2km) =sinx ; kKOZ avecr=+ a2 +b? et [:
-1<cosx <1 ; -1<sinx<l1 sng =—

. . r
cos(—Xx) =cosx ; sin(—x)=-snx
cos(a+b) = cosaltosb-sinalsinb tana+tanb
_ . : tan(a+b) =
cos(a—b) = cosaltosb +sinalsinb 1-tanallanb
sin(a+b) =sinal¢osb +cosalsinb tan(a—b) = tana-tanb
sin(a—-b) =sinaltosb —cosalsinb 1+tanaltanb
cos(2a) = cos® a-sin?a=2cos? a-1=1-2sin’a _ 2tana
| _ tan(2a) = ———
sin(2a) = 2sina.cosa 1-tan®a
X =y + 2Kt
cosx:cosy@{ —y + 2k sinx =siny X =Y+ 2k
X =Ty e X = TI—y + 2KTt

cosx =0 = x:g+kn; kOZ

sinx=0- x=km; kOZ

tanx =tany = X =y +Kr
kOZ

} T
COSX =SINX < x:Z+kn

kOZ
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